BIOLOGY 2017

Time: 30 Minutes Max. Marks: 15
SECTION “A” (MULTIPLE CHOICE QUESTIONS)

1. Choose the correct answer for each from the

given options: (15)

1. Tuberculosis is caused by:

. Virus =+ Bacteria ¢ Worm e None of these

2 Mycellum of fungi is made up of:

. Sori e Sporangium e Gamete e Hyphae

& It is not cold blooded animal:

. Fish « Cat e Frog e Snake

4. The outer most whorl of a flower is:

= Gynoecium ¢ Androecium ¢ Corolla ¢ Calyx

5. It is the sensory layer of eyeball:

» Sclerotic e Choroid e Retina e Cornea

6. D.N.A. is present in;

. Nucleus ¢ Chromosome e« Cell ¢ Nucleoplasm

T The basic unit of classification is:

» Phylum  Order e« Class « Species

8. He discovered cell the basic unit of living organisms.

a Galileo » Robert Hook e« Wiiliam Harvey ¢ Linnaeus

9. Intelligent guess of a scientist which is in the form of a
statement is called:

. Deduction e Theory e Hypothesis e Law

10. It is a gill breathing animat:

. Frog e Fish e« Whale ¢ Turtle

11.  This vitamin is essential for vision and skin:

. Vitamin A e VitaminB e VitaminC e VitaminD

12.  Agaricus is commonly known as:

. Mushroom e Yeast ¢ Bread mould e Water mould

13.  This bird cannot fly:

. Pigeon = Kiwi e Parrot e« Sparrow

14.  This tissue conducts water and salts in plants:

. Xylem ¢ Phloem e Cambium e Pith

15. The seed is a:

Ripened ovule ’ Ripened ovary
Endosperm - Cotyledon
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